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Time Allowed : 2 Hours

Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Directions (01-04) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is to
oversimplify the topic.

1. Why is the debate about whether men
are stronger than women unclear ?

(a) Because both genders are equally
strong in all aspects.

(b) Because the word “strong” may
mean many different things.

(c) Because men are always stronger

than women.

(d) Because strength is only measured
by physical power.

2. According to the passage, men generally
excel at which of the following ?

(a) Living longer.
(b) Tasks requiring precision.

(c) Lifting heavy objects and physical
labour.

(d) Resistance to disease.
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3. What strength do women tend to have
over men, according to the passage ?

(a) They are better at lifting heavy
objects.

(b) They live longer and have stronger
resistance to disease.

(c) They can strike forcefully.

(d) They are stronger in physical
labour.

4. What is the main message of the

passage ?

(a) Men and women are equally strong
in all areas.

(b) All women are incapable of

running, jumping and doing
physical labour because they are
not strong.

" (c) Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

Directions (05-09) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

5. Vitriolic
(a) Imaginative (b) Sprightly
(c) Vivacious (d) Abusive
6. Candid
(a) Kind (b) Courteous
(c) Generous (d) Frank
7. Profane
(a) Assert (b) Benefit
(c) Lengthen (d) Desecrate
8. Interpolate
(a) Clarify (b) Investigate
(c) Reverse (d) Insert



alternative that is most nearly opposite in @i

me

10.

11.

12.

13.

14.

Nadir

(a) Asylum (b) Heaven

(c) Lowestpoint (d) Zenith
Directions (10-14) : Choose the

aning to the given words.
Fiasco
(a) Success (b) Joy
(c) Fun (d) Disaster
Confident

(@) Imprudent (b) Impatient
(c) Diffident (d) Reluctant
Mammoth

(a) Significant (b) Small

(c) Unruly (d) Noisy
Engrossed

(&) Occupied (b) Inattentive
(c) Engaged (d) Absent
Altruistic

(@) Selfish (b) Inhuman
(c) Brutal (d) Wicked

Directions (15-17) : Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

15.

16.

To leave no stone unturned
(a) to keep clean and tidy
(b) to try utmost

(c) to work enthusiastically
(d) to change the things
Through thick and thin

(a) bigand small

(b) large object

(c) under all conditions

(d) thin and fat
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17. 11l at ease
(a) Restless (b) Worthless
(c) Listless (d) Sleepless

Directions (18-20) : Out of the given
alternatives, choose the one which can best
be substituted for the given words or
sentence.

18. One who cannot be corrected.
(a) Incurable (b) Incorrigible
(c) Hardened (d) Invulnerable

19. One filled with excessive and mistaken
' enthusiasm in a cause.

(a) Pedant (b) Patriot
(c) Fanatic (d) Martyr
20. An office with no work, but high pay.
(a) Honorary (b) Sinecure
() Ex-officio (d) Reticent
21. The loudness of sound depends upon the

(a) velocity of sound waves in the
medium

(b) amplitude of the sound waves
(c) frequency of the sound waves

(d) frequency and velocity of the sound
waves

21. @ @ yEor R Bl §
(@ wegH F wfy R B AT W
(b) afy TRAT D A W
(c) eafy Tl B JAGRT W
(d) ey aem @ SRl 3R 9T W

22. The absolute zero temperature is O

Kelvin. In degree celsius (°C) unit,
which one of the following is the
absolute zero temperature ?

(@) 0°C (b) -100°C
(¢ -273.15°C  (d) -173.15°C



22.

23.

23.

24.

24.

25.

25.

wE Y TOE 0 Bfead © A
AR (°C) AF® § URA A ATIAN
frforRad & & dH—1 8 ?

(a) 0°C (b) -100°C

(¢ -273.15°C  (d) -173.15°C
Brine is an aqueous solution of

(a) NaCl (b) NaOH

() NaHCO, (d) Na,CO4

T Wl (F18) fhar el e 87
(a) NaCl (b) NaOH

(¢ NaHCO, (d) Na,CO,

Blood is a type of

(a) Epithelial tissue

(b) Muscular tissue
(c) Nervous tissue
(d) Connective tissue
IF TP DR Pl

(a) SUBS S 8
b) =N HAD ©

() Tf=SI HAd &
(d) AN HIF 2

‘Lub-Dub’ sound is produced due to
action of :

(a)

Large intestine

(b) Lungs
(¢) Heart
(d) Oesophagus

g—s9 @y e o & SR
I~ BT R ?

(a) w3 (b) BB

(c) B (d) TTRITA
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26.

26.

27.

27.

28.

Who was the Education Minister in the
first Cabinet of Independent India ?

(a) Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel

(c) Maulana Abul Kalam Azad

(d) Acharya Narendra Dev

WE AR B W Awvsa A frem w3
B Y ?

(@) WG AHETT

(b) VRER ToeTvHls Uce

(c) HIGTHT 3gel HelM 3o

() mEd TR 99

Which one of the following associations
was founded in London by Dadabhai
Naoroji in 1866 ?

(a) The Bengal British India Society
(b) The East India Association

(c) The British Indian Association
(d) The Madras Native Association

€ 1866 F TTEMIE ARG gRT oA ¥,
fefoReg & 4 S99 |9 (Fw) @l
RITYT &Y 7§ ?

(@) < e fafew sisar |
(b) T X FOSAT TR

( = Pty sieaw vafmeE
(@ ¢ 7= A gafee

Who is presently the Secretary General
of United Nations Organisation :

(a)
(b)
(€
(d)

Antonio Guterres
Amina J. Mohammed
Dennis Francis

None of these



28. TAHM ¥ WY I HH P AGHI DI

29.

29.

30.

30.

31.

g7

() eI TRH
(b) ST S0 AEFR
€ st wiftes

(d) FTH W PIg TEI

Jelep La pass is located in

(a) Punjab Himalaya

(b) Sikkim Himalaya

(c) Kumaon Himalaya

(d) Kashmir Himalaya
Teg—all = Fel aRerd & ?
(@) HoE fRETeTy

(b) Rfdes fRere

() TS femmer

(d) HR B

Which one among the following is the
coral group of islands of India ?

(a)
(c) (d) Lakshadweep

faefoeg & ¥ dH-T U@ WRA &I
yare go—E ® ?

Andaman (b) Nicobar

Barren

(a) 3USH (b) Fr@ER

© ¥ (d) e

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(@) Right to equality

(b) Right to freedom

(c) Right to citizenship

(d) Right against exploitation
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31.

32.

32.

33.

33.

qRA § wfayge & g fAeforlRaa # &
P-4 TP AT (o1) PR 781 &8 ?

AT T AR

(@)

(b) TSI BT IARDHR

(c) ATTREE BT SMABR

@ I B g AR

The ‘Basic Structure Doctrine’ was
enunciated by the Supreme Court
during the

(a) Golak Nath case

(b) Maneka Gandhi case

(c) Kesavananda Bharati case

(d) S.R. Bommali case

AR WA Rigra (e e
Sifeeq) STaaq e §1)1 {6 Al
3 SrRM fefia fear T ?

(a) TIAHAT ATHT

(b) AT T ATHAT

(c) DIAFT HIRAT AT
(d) T¥O 3RO IFHE ATTAT

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(a) B.R. Ambedkar
(b) K. M. Munshi

(c) Krishnaswamy lyer
(d) M. K. Gandhi

g W P ARG $ A I gregor
e &1 A T8l o ?

(a) 0 3RO ISP
(b) H0 THO HIT

() PEMER AR
(d) THO o T



34.

34.

35.

35.

36.

36.

37.

Which one of the following is not an
ASEAN member ?

(@)
(c)
frfoed # ¥ ®9—T U3 ASEAN &l
e 7B § 7

(@) PRI (b) TR

(c RER (d) drEar

In the term GIS, ‘G’ stands for

Cambodia (b) Laos

Myanmar (d) Taiwan

(a) Google (b) Geographic
() Goodness (d) Geological
s T H ¢ fra o & forg 2 ?
(@) TS (b) o
(c) TS (a) Rt

What will be obtained by multiplying the

difference obtained by subtracting 3%

from 9% by 450 ?

2250
2540

(a) (b) 2045

(c) (d) 2450

9-‘;—1’# S| 3% g TR YT 3R Bl 450

{ IO B TR FT U BRI ?

(a) 2250 (b) 2045

() 2540 (d) 2450

If B L then, what is the value of
3 2 5

ratio (C+Af:(A+B): (B+C)?

(a) 64:25:49
(b) 54:35:39
(c) 64:55:49
(d) 64:25:51
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37.

38.

38.

39.

39.

40.

af c=C, @ W
(C+A)Y:(A+B)f :(B+C)* ®T 7 AT 87

(a)
(c)

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

A
3

64:25:49
64 :55:49

(b) 54:35:39
(d) 64:25:51

(&) 120 (b) 108
(¢) 100 (d) 96
Y EER 13 D Igua # AR

TSI ANTHA 240 B, O FABI =K
fpqm g8 ?

(@) 120
(c)

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work ?

(@ 11 (b) 13

() 15 d 17

A el Uh Brd B 20 T A wEw
FN GHal & Sefd B BT 36 HE B
25 fe & WA W OWHAT vl <M
ez 5 foT & w3 € = B o™
BIgey doll Ol &1 99 B Bl A
arper fpa @A # o= o ?

(@) (b)
(©) (d) 17

A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(a)
()

(b) 108

100 (d) 96

11 13

15

10 hours (b) 12 hours

8 hours (d) 24 hours



40.

41.

41.

42,

A TH B P 4 B H B TAT C FeTaw
3 g § dor A 3R C fAeaR S92
goe § TR IR Whd ©| B Aol gH
F1d B fhay AT § R B ?

(@) 1097

(b) 129U

(c) 8w

(d) 24 "o

A man goes from A to B at the speed of
60 km/h and returns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

() 50 km/hr

(b) 48 km/hr

(c) 45km/hr

(d) 55km/hr

Uh A} A 9 B d@ 60 fhdHlo i
HUST P T W G B AT B WA Th
40 f&fo ofy Tver & Y | e =1
et g @ fag swe efvwa TRy
foae & ?

(a) 50 f&Hlo /HeT

(b) 48 fdHlo /HeT

(c) 45 fdo /Her

d) 55 f&¥o /HET

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach from Bto A ?

(@ 5:3 (b) 2:3

) 2:1 (d) 3:2

(A-8)
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42.

43.

43.

44,

44,

e e g A 9 g B @ 4
fdio /Tver @ Y | T 8 9 a9y
fog B @ g A @@ 6 f&Hlo/ wver
F fy & et 81 A ¥ B OF UgAd
TAT B WA TH A H T AHI Bl
3IUTA &1 BT 7
@ 5:3 (b) 2:3
c 2:1 d 3:2

Simple interest on a sum of money is

equal to % of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per

annum ?
(a) 2.5% (b) 5%

1

(c) 75% (d) 10%

MWWWWWW%

2 dor guf @ T, gfovd ) B SRIER
2| & & aiffe <) fhaqr & ?

(a) 2.5% b) 5%

1

© 75% (d) 10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 months,

when the interest is payable quarterly.
(a) Rs. 7651 (b) Rs. 7605
(c) Rs. 8652 (d) Rs. 8052

125000 B0 BT 8% TAINP X | 9 HIE Bl
Ipgle @G S PING, & TS
foramer 2 8|

(@ 7651 %0

(b) 7605 %0

(c) 8652 %0 (d) 8052 %0



45.

45.

46.

46.

47.

47.

48.

What is the value of (O.ﬂ +0.48 + O.EJ_O)

(a) 1.87 (b) 214

(c)
(072 +0.38+0.90) ®T W T 8 ?

3.56 d) 4.12

(@) 1.87 (b) 214

(c)

A set of instructions in a sequential
manner telling the computer what to do
is called :

(a)
(c)
HFYSR PN, I FAT 8, I Ia B g
A wn g A (FHAR) & 99E
(set]?lﬁ?ﬁ-'TG[mT%:

() FXgaER (b) HHETSR

(c) W™ (d) H—aTS

Electronic components predominantly
used in first generation computers were

3.56 (d) 412

Instructor (b) Compiler

Program (d) Key-Board

(a) Magnetic drum

(b) Transistor

(c) Vacuum tubes

(d) IC

o G B HgeR ¥ Y WY 9
Seaele Ued ugad B o

(@) FEDE FH

(b) ST

(c) frafa =ga

(d) 3 ¥

A source program is directly converted
to .exe file by which of the following ?

(a)
(c)

Compiler (b) Interpreter

Assembler (d) Linker
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48.

49,

49,

50.

50.

S1.

51,

frg % ¥ 59 g™ Te I WU
N .exe BIEd F yRafita gar & ?

(a) TR (b) FTBIX

(c) ORFR (@ fofax

Which protocol is commonly used on
internet to exchange files ?

(a) Telnet (b) Gopher

(c) FTP (d) SpP

BEA P IIQA-I&Al Bg FEvIE W
T e deteta @1 Sua fear
ST 27 |

eee
Wo@[o‘lﬁo

(b) THR
(d) THoUlo

(a)
()

Which of the following command is used
to add hyperlink in a document ?

(& Ctrl+F (b) Ctrl+K
(c) Ctrl+B (d) Ctrl+V

UH SRS § B Siad @ forg
= 4 O fog ars &1 AT fdar Sar
2?

(a)

(c)

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called

Ctrl+ F
Ctrl+ B

(b) Ctrl +K
(d) Ctrl+V

as:
(a) (b) ROM

(c) RAM (d) SSD

TR BT 98 FHR S W 8 SR rmd
w0 q @lRd aifga offesl & wufed
CaGIR

(a)
(c)

HDD

HDD
RAM

(b) ROM
(d) SSD



52.

52.

53.

53.

54.

54.

55.

55.

A web page is primarily written in the 56.
language
(a) C++ (b) Python
(c) HTML (d) Java
forer e 2 |

56.
(@) C++ (b) 9rIH
(c) HTML (d) SIrar
Every web page has an address
associated with it. This address is
known as

57.
(a) URL (b) IP
(¢ TCP (d) Browser
& 99 U @ W Td gl ST Bl B |
g [N 7 R, FEA T |
(@) URL (b) IP 5
(c) TCP (d) SR
A popular protocol for sending e-mail is
(@) TCP (b) UDP
(c) SMTP (d) HTML
-7 WO B Y U AIpHg et -
s :
(a) TCP . (b) UDP
(c) SMTP (d) HTML
MAC address is :oiviiiierse bits long.
(@) 24 (b) 48 58,
(c) 124 (d) 64
8% (MAC) TS¥ ..o, (9T BT BT 3 |
(@ 24 (b) 48
(c) 124 (d) 64

(A-10)
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Temporary storage area that
compensates for differences in data rate

and data flow between devices is known

1,
(a) Bus (b) Channel
(c) Modem (d) Buffer

SRR YUSRY &7 Wl SUBN & §i9
2T X 3R T YA B =R B HRUTS
PNal & I8 HEAT B

(b) AT

(d) dW

() =9

(c) dreH
FTP stands for
(a) Folder Text Protocol

(b) File Transfer Push

(c) Fixed Terminology Placement

(d) File Transfer Protocol

FTP & T &
(a) WIcER THRT HICIHIA

(b) IS TFAE G
() frads efifHEmel o<

() WIES SR ATl

All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(¢} Tool bar

(d) My Computer

o ¥efie @ g2 wigel 7 & ol
(@) SrEEe faF

(b) TRPIR
(c) TeER
(d) HTZ PEGR



59. Which of the following is not an
operating system ?
(@) DOS (b) UNIX
(¢ LINUX (d) MS-Office
59. famforRaa # & &4 iR e T8l
27
@ <N (b) e
() ferras (d) THOTWO 3iffthw
60. The process of switching from one open
window to another is called
(a) Task switching (b) System call
() Moving (d) None of these
60. T& Mu9 fawer o T e fawsr #
Raa &= @ ufshar SN SR @
(@) °rp RafFm (b)) Ried o
(© 7 (@ 3T B TE
fger  (61-65) : fF=foriaa o @ g
adH) arel W BT TIT BITI—
61. (a) fazeromor (b) fagers
(c) faweryor (d) faviyor
62. (a) WHIATOT (b) SO
(c) Tiger ol (d) HEE
63. (a) WRRD (b) RS
(c) wrEfca®d (d) wrfefeas
64. (a) dRDR (b) IR
(c) WER (d) IEHR
65. (a) faeticrel (b) fererisTer
(c) foremoifer () fRrceroter

fgwr (66-70) : fr=iforlRaa wres |el &

forg e o 97 Ry ¢ Reedt d 9 74—

66.

67.

68.

69.

70.

T TAE T 9 B
(a) Alfd (b) fife
(c) armfer (@) s

g AEBIC 9l O 9 99 ¥ TR
ded B—

(a) e (b) g
(c) ¥ e (d) JAURTS
Y Y D AT AT o

(@) T (b) ¥R
(c) ST (@ &
e IR—UR @M S G-

@) et (b) e
(c) UREH (d) rcroraf
Y ¥ 99T Al

(@) B (b) IRS
() WS (@ g
i (71-72) : f=foRea geRi/

ArfFal o1 aef S9a Ry Ty fdwedl §

-—Eﬁ_

71.

72.

(A-11)
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'TAIR BT TR TR FqT BT 7] 8—

(&) Il B

(b) TRINTG HR QAT

(c) Fwf BT

(d) BT B HAT

‘81T T Ao’ &7 3ef B—

(8) T I (b) DI T
(c) wEM a%g (d) WY a%g



fader (73-76) : F=fafed saaRwT @7
St e @ fERER @, Ry U fawedt
¥ g

=R o a%g @7 8, 99 9§ 98d
9 ST ®, O9 99 9%g P Ui, |ifeg ar
ST ¥ S T8 WAl | s wEdr © b a'
IR—9R A a1 R fAear || 99 @1 dm,
9 T EHR U § ER X ofal 8, d9 Ui
B9 TR ol 3R Wiy & 3BT SRR S &
8, R A9 a7 QR 3R WifkT & 3=
J o <gar 2| R 78 & saq @ 09,
1o 8 Sa9 | UE~ 81 B, SH HHI TR
8 T8 fAadr| SHPT URT RIBRUT Wal
IMITHY & 8| S forg I 8 98 W A8l
8| Iy, SMIT—FHaT W S~ § &; 3Nk
S fedt § a8 ema—doqa @Ifdd &
SR 8, G W SWET A7 w9 T @ g o
ST 21 9 Rl B @R 98 v B @
3R 9 S¥ WHR BlT UG BT & TH A

Ay Aifcads AT &I ST AT T 2 |
73. T @7 WA UG B

(a) 3T (b) EF—a

(c) 9 3R IrFarg(d) o 3iR wfer

74, A P JATTIIOT ARG JMEEI w4l
TEdl § ?

(a) 9% AIfcad SHaT F I B
(b) RraT 8 Sa= | g9 89 & S

P rawER A8l Herar

(c) &M B gRf oY I8 BB aRGAT
P YT B ol &

(@ R 8 Sa9 W 98 W 8l Sl
E

(A-

101

75. WIfead Siaw @1 S fodt deT T © ?
(a) - (b) HaW
() TURIUBR (d) wfe

76. SNANY B YR BT g A T 8 ?

(@) @ @ gt T BN @ g™ A
T ®

(b) & YT 7 BIF B G A TAT &

(c) AN YISl 8 &7 S AT TAT §

(d) SME—FAT | IO T A
T 8
e (77-78) : fr=fafag @i @
Tt wreg BT FIA S9e Iy MY fAwedt |
| DI —

77. AN
(a) ThaTd (b) U
(c) Uad (d) 3
78. <
(a) fowaR (b) IFEPR
(c) AT (d) wfEE
fader (79-80) : fa=faRea vl @

fad| v@ &7 9949 99 U U fAdeui § @
T

79. geH
() 37 (b) <A
() fR¥a (d) W
80. gfe
(@) FXOT (b) T
@ 3fe (@ e

12)



Direction (81-84) : Read the following
information carefully and answer the

questions given below it :

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.

81. How many persons are there to the right

of D?
(a) One (b) Two
(c) Three (d) Four

82. Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC
(c) FE (d) AC
83. Who is sitting immediate left of C ?
(@ A (b) E
cg B (d F
84. Who is at the right end ?
(@ A (b) B
() E (d F

fader (81-84) : IR AR &I
WayHgds U R A Ry MU et @
SR T :

BE S A, B, C, D, E 3R F IR &I
3R HE PP (P 4faw § 98 €1 C, AR E
% /9 6T 81 D 3 ¥ 981 €1 B, E ® TP
TN IST 2| F TV 9§ 3 # 781 &1
81. D & Tl 3R o =faa & ?

(8) TP (b) <

(c) = (d) IR
g2, fA=foRad # & dF—T "R D & &

TH Je1 8 ?

(a) FB

(c) FE

(b) FC
(d) AC

83. C @ O 9 TP P doT & 7

@ A (b) E
€ B (d) F
84. TV fHIR W HIF o7 & ?
(@ A (b) B
(c) E (d F

Direction (85-87) : Read the following
information and answer the questions given
below :

B is the mother of A. C, B’s sister, has a
son D and a daughter E. F is the maternal
uncle of D.

85. Howis A related to D ?

(a) Cousin (b) Nephew

(c) Maternal Uncle (d) Brother
86. Howis E related of F ?

(a) Sister (b) Daughter
(c) Niece (d) Wife
87. How many nephews does F have ?

(a) Nil (b) One

(c) Two (d) Three

fader (85-87) : fA=foiRea SMa 9@
3R A= RY 7Y 7&Hl &1 9T -

B,A @I |f 8| C, B @I 98+, &I Ud dcl

DRIRTH I ERIF,D BT AANE
85. A, D ¥ f&g yorR Hefdg g ?

() rRT W (b) WIS
(c) (@ w1
86. E,F ¥ f&y yoR wefea g ?
(@ w89 (b) X
(c) SR (d) aeht

(A-13)
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87. F & fooam #iwl § ?
(@) TH 4t &1 (b) T
() T/ (d) &=

Direction (88-90) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

88. NECESSARY

(a) One (b) Two

(c) Three (d) Four
89. PREAMBLE

(a) One (b) Two

(¢) Three (d) Four
90. ORIENTAL

(a) One (b) Two

(c) Three (d) Four

frdsr (88-90) : Ffafed # 4 w¥®
weq ¥ Ry T e # it B W fEa S
g e 9o s & aof € Ry & efeh
quieTem § 37 99 B 8 ?

88. NECESSARY
(a) T (b) &
() o+ (d) IR

89. PREAMBLE

(@) TP (b) <

(¢ o= d IR
90. ORIENTAL

() TP (b) &I

(c) T+ d) IR

(A-14)
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O T SATUDT I8 U YRAPT @ie DI 7 $H8l WY a9 T 7 @il |

10.

gfkieT G ¢ | IR el

AP | A

iR a9 : 2 T IRHTH 3F : 90
e @ forg fdw

e I6 BN B R 915 apadf a8 ghRea w) o 5 I8 ye-yRaer g 16 U=t @Y € w@
forell Y TPR W ST AT B g8 TEI © A THD U AT i1 A Ge T § | I A &,
30 GH @ aTel YeE-YRAdT § 9a ol oY |

TH! T IFAIG TH-JRAH H HW oY T wWid # WA 2| §9 AfRad TE-YRadT W
75 4 7 ford aik et yoR 1 aFTaTES e T = |

sraffal @ Sueter SR W OMR Sheet # difsa goar FriRa ©m w® war g% a9 @
74 R R R el yeR @1 oFavad e w8 e © ) omewes i OMR Sheet W
SUAE |

TE STR-Tufed &7 @ forg Ui U@ Mot @ Fot a1 et diedige U9 gR1 R | TF o e
T @ fufed 7 | T @ R M B SR @ WY A R I R I SR B T A
S |

59 ye-gRawT § ¥ el 0 @1 o 7 A | W, OMR SR Bl B e B
| < | MR TET-HA & TG TH-JRADT 39 T o T DY AR B |

59 TRA-JRA@ ¥ g 90 WA § | Y% T BT OAN 1 3% §| Teld SR B o0 BIg i el
P S | |

A 9, T, THYfed Td ey @ e R vl el < A § | 3 il # gfed faRi
ye 3R S fewl 3arq i v &, a1 3o § gfad ye & A 8|

39 TeR-gRae # W6 1 B fory & g% BIg Y F|

e Fe § dogeicy, TE UL /G, WG B M gerdn o SISO Gl H @ T
P! SYAT BT i 2 |

areffTr 39 ed | e W 5 OMR Sheet @1 qedied gadg e wefid g1 far o 2|
3qd, OMR Sheet W el & ¥ Ta & W e 74 0@ el U6 WA IR Fedip
T B T | 59 S BT SR Ureld F BRe @ o ¥ opweft swa fo wd RreaR
& | |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Roll No. : ' B
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series. '

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over. '

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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féw  (01-05) : Ffoiaa & & g

T aTet WeE BT AT DI
1. (o) fawewEm (b) faeeras
(c) fazemor (d) fasermor
2. (a) WHEANOT (b) TEAYOT
(c) SrEeryor (d) TR
3. (a) wIfgdi®d DISIERIGE
() wefa® () wfRfs
4, (a) dRESBR (b) RPN
() TETHR (d) RFHR
5. (a) focriore (b) forerisien
(c) forerisifer (d) freerafer
frdw (06-10) : fFfoRaT W ARl &
fore v vt g Ry 7Y fAwedl F 7 -
6. o WAM IR A Bl
(a) Hfehem (b) w@fife
(c) srfarT (d) smfaH

I8 FEHETE ST O UY a9 W ;DR
dred 8-

(a) A (b) gt

(c) I e (d) SRS
8. Wil ;Y BT T BT o—

(@) T (b) TR

(c) ST (@ fo<h
9. R IR—IR @ I HH—

(@) T (b) et

(€ UREH (d) ereredit
10. MY H ¥ Afd—

(@) DS (b) TRS

(€ S (@) o

101
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s (11-12) : fr=fafed et/
Al @1 oef s fRw Y fweat # |
TH

11, ‘TR @ IR WR o=l BT 7ef 8-

(a) TN B

(b) URIT B =T

() ¥t BT

@) HfeT B BT

81 BT Aol P13 5—

(@ =B 9%
(b) DI TG

€ =N

@ N avg

fader (13-16) : fy=foiRaa sf@axor @l
W age B faRgER B, Ry T et |
¥ gfro—

v @R 9 9% @ €, 99 9§ 984
¢ AT 2, a9 S g @ Wik, wifed ar
I A St E HRaT| A " § 6 I
IR-9R A I1 xER fHerr | g9 @1 A,
W9 T B BT § 'R PR ol B, a9 Wi
a9 R o 3R Wiy @ BT RER g4 &
g, R A9 W oMgR iR Wity & e
I e e &1 R T8 8 Sad @ 98,
RraeT & 309 Q@ T 819 BI, SH DU AR
B I8 Aear| SHdl IR PRI Hal
ITERT el ©1 Sue forg &t § g8 ot el
2| Ay, IME—HodT ¥ ST §W §; A
R et § U8 SvE—dodTr @rIfad 8
ST 2, g & SWHT A 99 T @ forw ge
ST ¥ 9 R @Y R 98 T Bl @
3R 9 S @I DS F BT &) g4 A
HAIY g Sirae BT ST AT T © |

12.




13. TR $T WEl Wy -
(@) I
(b) -G
(c) <M iR sRidy
(@) <y iR difa
14, g BT AMIRO Wad IMEHT H
@A e ?
(a) dg Wifeasd Siaw SiE oFTdT &
b) e & Sa9 ¥ ¥ 8F F SH
T SaER I fAerdn
(c) oM @ gRT ¥Y I8 IBHS ARl
@ Wy FR oIl ©
@ FfaT 8 Sow 9 98 y9= 81 ol
2
15. WIfeges Sias T 3T ford T AT ® ?
(@) EF—aH (b) ey
() WUBR (d) wf
16. AN fhq USR B g A 7T B ?
(@ <M @ gt 7 8 & @ A
T B
(b) &9 UK 7 BN B G AT TAT ©
(c) Y YT B9 BT G HAT AT '
(d) IME—Feal | SAH W A

TR
frder (17-18) : fr=foRe vl &
el o @1 T SWe Ry T fawedt #
| PIfY —

17. 3fvrer
(a) sHATT (b) 9TIH
() 9ad (d) e
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18. TU

@ R (b) JIEDR
() AT (d) SaTfET
e (19-20) : f=faRed w=i @

M I @1 g9 o9 Ry 7y fAwent § @
T

19. &
(2) oG (b) <A
() faRea (d) ¥
20. gfe
(a) HRU (b) T
(© qfe (@) e

Directions (21-24) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women often unclear
because the word “strong” may mean many

is

things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, argue is to
oversimplify the topic.

and to otherwise



21.

22,

23.

24.

Why is the debate about whether men

are stronger than women unclear ?

(d)

Because both genders are equally
strong in all aspects.

Because the word “strong” may
mean many different things.

Because men are always stronger
than women.

Because strength is only measured
by physical power.

According to the passage, men generally

excel at which of the following ?

(2)
(b)
()

(d)

Living longer.
Tasks requiring precision.

Lifting heavy objects and physical
labour.

Resistance to disease.

What strength do women tend to have

over men, according to the passage ?

(a) They are better at lifting heavy
objects.

(b)° They live longer and have stronger
resistance to disease.

(c) They can strike forcefully.

(d) They are stronger in physical
labour.

What is the main message of the

passage ?

() Men and women are equally strong

(b)

(c)

(d)

101

in all areas.

All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

Only physical strength should be
considered when comparing
genders.

B

Directions (25-29) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words

given.

25.

26.

27.

28.

29.

Vitriolic

(@) Imaginative
(¢} Vivacious
Candid

(a) Kind

(c) Generous
Profane

(a) Assert

(c) Lengthen
Interpolate

(a) Clarify

(c) Reverse
Nadir

(a) Asylum

(c) Lowest point
Directions

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(30-34)

Sprightly

Abusive

Courteous

Frank

Benefit

Desecrate

Investigate

Insert

Heaven
Zenith

Choose the

alternative that is most nearly opposite in
meaning to the given words.

30.

31.

32.

33.

Fiasco

(a) Success

(c) Fun
Confident

(@) Imprudent
(c) Diffident
Mammoth

(a) Significant
(c) Unruly
Engrossed

(a) Occupied
(c) Engaged

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

Joy

Disaster

Impatient

Reluctant

Small

Noisy

Inattentive

Absent



34.

Altruistic

(a) Selfish (b) Inhuman

(c) Brutal (d) Wicked
Directions (35-37) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

35.

36.

37.

To leave no stone unturned

(a) to keep clean and tidy
(b) to try utmost

(c) to work enthusiastically
(d) to change the things

Through thick and thin

(a) bigand small

(b) large object

(c) under all conditions

(d) thin and fat

11l at ease

(a) Restless (b) Worthless
(c) |Listless (d) Sleepless

Directions (38-40) : Out of the given

alternatives, choose the one which can best
be substituted for the given words or

sentence.

38.

39.

40.

One who cannot be corrected.
(a)
(c)

One filled with excessive and mistaken

Incurable (b) Incorrigible

Hardened (d) Invulnerable

enthusiasm in a cause.
(a)
()
An office with no work, but high pay.
(a)
(c)

Pedant (b) Patriot

Fanatic (d) Martyr
Honorary (b} Sinecure

Ex-officio (d) Reticent

101
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41.

41.

42,

42.

43.

43.

The loudness of sound depends upon the

(a) velocity of sound waves in the
medium

(b) amplitude of the sound waves

(c) frequency of the sound waves

(d) frequency and velocity of the sound
waves

eg+l B FaerT AR Bl ©

(a) FEIH ¥ @ N B 9T W

(b) €A TR D AMAH TR

(c) € T @ IMgRy W

@ @y 9 @ R SR AT W)

The absolute zero temperature is O

Kelvin. In degree celsius (°C) unit,

which one of the following is the

absolute zero tempei'ature ?

(@ 0°C (b) -100°C

(c) -273.15°C (d) -173.15°C

wH T aEE 0 Bfead B ¥
Jfeaw (°C) Ad § WA T AIHH
formforRad § & -1 8 ?

(a) 0°c (b) —100°C

-273.15°C  (d) -173.15°C

()
Brine is an aqueous solution of
(@)
()
S Wil (1) fpasT Sreira e 87

NaCl (b) NaOH

NaHCO, (d) Na,CO,

NaCl (b) NaOH

(2)

(c) NaHCO;, (d) Na,COj,



44,

44,

45.

45.

46.

Blood is a type of

(a) Epithelial tissue

(b) Muscular tissue
(c) Nervous tissue
(d) Connective tissue
Yqd U PR DI

(a) SUB HAD 8
(b) U D B

(c) af@r e ©
@ Ao Had '
‘Lub-Dub’ sound is produced due to
action of :

(a) Large intestine
(b) Lungs

(c) Heart

(d) Oesophagus

T9-s9 w@fy feradr fhar & &R
SO~ Bl 8 °?

(@) ¥ A
(b) BHS
(c) ®<F
(d) ITETN

Who was the Education Minister in the
first Cabinet of Independent India ?

(a) Sarvepalli Radhakrishnan
(b) Sardar Vallabhbhai Patel
(¢) Maulana Abul Kalam Azad
(d) Acharya Narendra Dev

101
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46.

47.

47.

48.

48.

a3 R @ 929 d@f3mvsa | R d§4
B A ?

(@) WA HTHT

(b) VRER TooTvHTs Ucel
(c) AT A FHATH ISR
(d) ST TR <

Which one of the following associations
was founded in London by Dadabhai
Naoroji in 1866 ?

(a) The Bengal British India Society
(b) The East India Association

(c) The British Indian Association
(d) The Madras Native Association

af 1866 ¥ TRMIE AR ERT o= H,
for=foRed & @ @H-—9 W9 (dwen) @
R BT T ?

(a) T I fARkY sfsar W
(b) T I geaT THRGEE

() T fafew shsaw vaRige
(@) T AN AT vEIfieeE

Who is presently the Secretary General
of United Nations Organisation :

(a) Antonio Guterres

(b) Amina J. Mohammed

(c) Dennis Francis

(d) None of these

A ¥ ST W W D AR I
g7

(@) TeIHAl TN

(b) 3R S0 AEFE

(c) S wifed

(@ T H P T



49.

49.

50.

50.

51.

51.

Jelep La pass is located in

(a) Punjab Himalaya

(b) Sikkim Himalaya

(¢ Kumaon Himalaya

(d) Kashmir Himalaya

Solg—oTl &Xf Pel faRerd & ?

(a) U feHTe™

b) fufeesa fewred

(c) @‘TIEV ferera

(d SR fEAT™

Which one among the following is the
coral group of islands of India ?

(a) Andaman (b) Nicobar

(c) Barren (d) Lakshadweep
frfafed § ¥ P91 Td 4R BT
yard §I9—E ® 7

(@) 3USH (b) fAPER

© I (@) e

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a) Right to equality

(b) Right to freedom

(c) Right to citizenship

(d) Right against exploitation

IRa @ e & g fFrefolad 4 9
P11 U Hiferd (4eT) IBR & 8 ?
(@) WECT BT JAMBR

(b) AT BT SEBR

() FTRGAr & AfeBR

@ YT @ [Ieg AfteR

(B-8)

101

52.

52,

58.

53.

54.

The Basic Structure Doctrine’ was
enunciated by the Supreme Court
during the

(a) Golak Nath case

(b) Maneka Gandhi case

(c) Kesavananda Bharati case

(d) S.R. Bommai case

IR W Rigr (e e
Sifdes) Swoaw aTed g1 {69 AMel
® aRM A f&ar T ?

(@ BRI ATHET

(b) AFGT T AHAT

(c) BIAT= HReH HHA

(d) THO 3RO dFg ATl

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(a) B.R. Ambedkar

(b) K. M. Munshi

(c) Krishnaswamy lyer

(d) M. K. Gandhi

79 ¥ B YRd & Ha"E B YTyl
afafer &1 wew € o ?

(@) H0 3RO A=SHR

(b) 0 THO HeM
(c) TTREM! &R
(d) THO B0 TR

Which one of the following is not an
ASEAN member ?

(a) Cambodia
(b) Laos
(c) Myanmar

(d) Taiwan



o4.

55.

55.

56.

56.

57,

57.

ffafad & § ®F—1T U ASEAN &I
g FEl 8§ ?

(@ FHFEISAT (b) <N

(c) HHAR (d) Trgar

In the term GIS, ‘G’ stands for

(a) Google (b) Geographic
() Goodness (d) Geological
Gls Te H ‘&’ fra o & fog 8 7
(a) T (b) forarmfha
© T CIRSEISIEEE

What will be obtained by multiplying the

difference obtained by subtracting 3-2—
1
from 95 by 450 ?

(@) 2250 (b) 2045
(c) 2540 (d) 2450

9%1??# sgmwwmaﬁ%o
W TN FRA TR AT YT B ?
(@) 2250 (b) 2045

(c) 2540 (d) 2450

If a_B S then, what is the value of
3 2 5

ratio (C+A)*:(A+B):(B+C)*?
(a) 64:25:49 (b) 54 :35:39
(c) 64:55:49 (d) 64 :25:51

A_B_C
Tf =T ar ERIn]
(C+AP:(A+Bf :(B+C)* T A &T &7
(@) 64:25:49  (b) 54:35:39

() 64:55:49 (d) 64:25:51

(B-9)
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58,

58.

59.

59.

60.

60.

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(@ 120 (b) 108

(c) 100 (d) 96

Q w@d 1:3 @ U H 8 e
Sdl ANTHS 240 B, A FADT I
foeem 8 ?

(@) 120 (b) 108

(c) 100 (d) 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then

B leaves the work. In how many days can
A alone do the remaining work ?

(@ 11 (b) 13
(¢ 15 (d) 17

A BT Th drd B 20 e # wHE
PR AHAT & SEfP B berl 39 Dd B
25 &9 ¥ WA P HHA T QHEl
figrax 5 fe7 @1 w=d € B B &M

BIEa) Foll Ol &1 UY B Bl A
srvar frae R & &) g ?

@ 11 (b) 13
(c) 15 (d) 17

A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(a) 10 hours (b) 12 hours
(c) 8 hours (d) 24 hours
A TH &4 BT 4 °S H, B 7T C Aarar
3 e ¥ gar A 3R C fAaer S92
e § T IR WHA &1 B Dol T

Bt B fras 9§ @B ?
(a) 10 EWC (b) 12 ©9C
() 8¥w (d) 24 "7



61.

61.

62.

62.

A man goes from A to B at the speed of
60 km/h and returns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

(@) 50 km/hr
(b) 48 km/hr
(c) 45km/hr
(d) 55km/hr

e Afdd A W B @ 60 fdHAlo Ufd
ST P Y W AT & T B H A TP
40 oo gfey =ver & Tfa | dedr B
ot g & o Swer sfwa i
foaeit B 2

(@) 50 fbHlo /EeT
(b) 48 fdHHlo /HaT
(c) 45 fHHlo /6T
(d) 55 fHto /HeT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach from B to A ?

(@)
(©)
e Jfda g A 9 5 B @@ 4
o /uver Y Iy | ST & a9 9O
fig B & g A @@ 6 &0/ =ver
@ A F Sllear 81 A W B @ UgaT
TN B WA TH M H TN GHI B
U A1 8N ?

5758 () 2:3

2:1 (d) 3:2

(@ 5:3 (b) 2:3

¢ 2:1 (d} 3:2

101

10)

63.

63.

64.

64.

65.

65.

Simple interest on a sum of money is
equal to % of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per

annum ?

(a) 2.5% (b) 5%
10 0,

(c) 75/0 (d) 10%

el NI IR AR &S Jere @l %

2 quT gsf @ §E&, JfAed ) B xIeN
2| & @) I <) fha & ?

(b)

(a) 2.5% 5%

© 7% % (d) 10%

Find the compound interest of Rs.

125000 at 8% per annum for 9 months,
when the interest is payable quarterly.

(a)
(c)
125000 B0 BT 8% T H X | 9 AE &I

THgfy AN T DI, Sefh A
fomrer <7 2|

Rs. 7651 (b) Rs. 7605

Rs. 8652 (d) Rs, 8052

7651 %0 (b) 7605 %0

(a)

8652 %0

(c) (d) 8052 %0

What is the value of (0.?74; +0.48 + 0.%)
(@) 187
()

(074 +0.48+0.90) @1 717 T B ?

3.56

(@) 1.87 (b) 214

(c)

3.56 d) 4.12



Direction (66-69) : Read the following
information carefully and answer the
questions given below it :

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.

66. How many persons are there to the right

of D?
(a) One (b) Two
(c) Three (d) Four

67. Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC
(c) FE (d) AC
68. Who is sitting immediate left of C ?
(a) A (b) E
(c/ B (d F
69. Who is at the right end ?
(a) A (b) B
(¢ E (d) F

fAdwr (66-69) : fforRaa QST @l
WauHgEs I8 iR A Ry Ty we @
IR T

BE S A, B, C, D, E 3R F ST P!
3R Hg Pxd (P dfed § 98 €1 C, A IR E
T T DITHTENRIBED D
TN ST 2| F <Y 9 3 # 781 2|
66. D & S 3R o afea & ?

(8) TP (b) &1

(c) o= (d) IR
67. frefoRaa & 9 9—9T WR D & U

TEH SeT B ?

(@) FB

() FE

(b) FC
(d) AC

68. C @ Sl 91U A% P doT & 7

@ A (b) E
) B d F
69. TN fH IR TR P9 a1 & ?
(@ A (b) B
() E (d F

Direction (70-72) : Read the following
information and answer the questions given
below :

B is the mother of A. C, B’s sister, has a
son D and a daughter E. F is the maternal
uncle of D.

70. How is A related to D ?
(a) Cousin (b) Nephew
(c) Maternal Uncle (d) Brother
71. Howis E related of F ?
(a) Sister (b) Daughter
(c) Niece (d) Wife
72. How many nephews does F have ?
(a) Nil (b) One
(c) Two (d) Three
fader (70-72) : fr=fofad MR 98
3R Ry Ry 7Y Al BT SR -
B,A @ #f 8| C, B @I 98, I (& Sl
D2 3R TG I ERIF,D P AL

70. A, D 9 59 yoR F&fea 8 ?

(a) HIRT WIE (b) HIST
(c) HATA (d) g
71. E,F 9 &9 yor w@afd g ?
(a) & (b) d
(c) WISl (d) TN

(B-11)
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72. F & foeq 9wl € ? 76.

@ TEATH (b @

(© (d) &=

Direction (73-75) : In each of the
following questions, find out how many such 76
pairs of letters are there in the given word, .
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.
73. NECESSARY

(a) One (b) Two

L

(c) Three (d) Four
74. PREAMBLE

(@) One (b) Two

(c) Three (d) Four
75. ORIENTAL

(a) One (b) Two 77.

(c) Three (d) Four

fade (73-75) : F=fafead 4 @ TR®
e # Ry Ty g A quif @ U9 b ©ire
g e 9= s & 9ot € R b sish -
goiATenm § 39§ B 8 P '
73. NECESSARY

@) TH (b) <

(c) (d) IR 78.
74. PREAMBLE

@ U (b) G

(c) (d) @R

79.

75. ORIENTAL

@ TP (b) =T

(¢ (d) TR

(B-12)
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A set of instructions in a sequential

manner telling the computer what to do

is called :
(a) Instructor (b) Compiler
(c) Program (d) Key-Board

FFYER DI, TT BRAI 8, I8 I & foQ
R 9™ g e (FER) & 9
(set) DT HET ST 8 -

(@) T¥EIRR (b) HETZR

(c) wrum™ (@) DS

Electronic components predominantly
used in first generation computers were

(a) Magnetic drum
(b) Transistor
(c) Vacuum tubes

d IC

e O @ FEY A g™ w9 9@
gAGE (e TTH Igad B o
(@) FEOEFH (b)) FIRTRR
© PFeldegg (@ oA

A source program is directly converted
to .exe file by which of the following ?

(b) Interpreter
(c) Assembler (d) Linker

frr § @ 59 gRT Ue A UM
@ﬁ.exemﬁqﬁﬂﬁﬁmg?

(a) FHEER (b) STV

(c) SRR (d) fefdx

Which protocol is commonly used on
internet to exchange files ?

(b) Gopher

(d) SP

(a) Compiler

(a) Telnet
(c) FTP



79.

80.

80.

81.

81.

82.

82.

B B QA& B Feve W
| e Wietdter @1 swE fhar | oo
IS
(a) cTeME (b) TR
() UHodlollo (d) THoYlo -
Which of the following command is used
to add hyperlink in a document ? 83.
(a) Ctrl+F (b) Ctrl + K
(c) Ctrl+B (d) Ctrl+V
TP o ¥ gEwftie seH @ fou
e & ¥ fow o & yAm fear s | 84
g7
(@) Ctrl+F (b) Ctrl +K
() Ctrl+B (d) Ctrl+V 84.
The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as:

85.
(@) HDD (b) ROM
(c) RAM (d) SSD
TR P 98 TR o A B R e -
wY ¥ @Rd 9ifda sifesl @ wufea '
HaT &
(@) HDD (b) ROM

86.
(c) RAM (d) SSD
A web page is primarily written in the
language
(a) C++ (b) Python
(c) HTML (d) Java
NEBCE e e i A | | 8o.
forar e 2|
(a) C++ (b) U

(B-13)
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() HTML (d) wmar

has an address
This address is

Every web page
associated with it.

known as

(@ URL (b) IP

(¢} TCP (d) Browser

R A9 IS B W b UaT ST Bl B |
(a) URL (b) 1P

(c) TCP (d) €TV

A popular protocol for sending e-mail is
(@) TCP (b) UDP

(c) SMTP (d) HTML

37 A9 @ o U A ieterd
g

(@ TCP (b) UDP
(c) SMTP (d) HTML

MAC address is .........cccovvnnnn. bits long.
(a) 24 (b) 48

(c) 124 (d) 64

Y% (MAC) TSH ........... [9€H & BT & |
(a) 24 (b) 48

(c) 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(a) Bus (b) Channel

(c) Modem (d) Buffer

IR HUSRYT & S [UHRO @
ST <X 3R T YAIE P IR P MU

PNl & I8 HEAdl B
(b) AT

(@) 99



87.

87.

88.

88.

(c) dieH
FTP stands for
(@)

(d) d®X

Folder Text Protocol

(b) File Transfer Push

(¢) Fixed Terminology Placement
(d) File Transfer Protocol

FTP &1 A9

(a) HloeY SRS HeTdiel

(b) TSl FINABR I

) fraas et wRm<
(d) WIS SIHR AICIPid

All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(c) Tool bar

(d) My Computer

it Recfie 2 g wiget et ¥ o @ -
(@) e A '

(b) TTRPIR

(c) TeldR

@ E PR
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89.

89.

90.

90.

Which of the
operating system ?

following is not an

(a) DOS (b) UNIX
(c) LINUX (d) MS-Office
frfafad § ¥ B9 sifmfeT Riew =&
g7

(a) = (b) I

(c) ferTa (d) THOTWO 3Hifhe

The process of switching from one open
window to another is called

(@)

Task switching

(b) System call
(c) Moving
(d) None of these

T AT faer 9 R eiue faser A
Rea @ & ufhar ST ol 8

s Rafe

(a)

(b) FHeH Did
(c) T

() T B TE
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WE TP AP & Y YRAPT WM B 7 FTN WY 79 T 7 Gled |

R HeT - e e

AT B

feiRa vy : 2 o 3BT 3% : 90
wenrfit @ fow fAdw

10.

B g6 BN @ qvw ae gl T8 g aR o 5 g8 ae-gRaer g 16 7o @t § T
mﬁwﬁmeﬁﬁ%mmﬁmmmwﬁﬁlﬁW%
a §® AN e ar E-gReT @ 95d ot WY |
ST ST D Fe-gRaF ¥ W Ry T @S § A | 90 AR ge-gRawr ®
35 4 7 ford 3R ot yaR 1 sFTawEe e | e |
sl F) Sueel =R W OMR Sheet ¥ qifva quemt FuiRa e w wen go &F @
7 w0 ¥ ok 6l YER @1 aFaREs R T g 8| mavad fica OMR Sheet W
U 7 |
w8 TR-Fiftd @ @ forg PriRa v@ Mot @ Fret @ A dfedisT 07 gRT W TP 9 e
e 31 Rt 7 | 1@ QA AR el B TR D WY e F W IH SR B Terd A
SITGT |
74 TRt ¥ ¥ R off 91 B arerT 5 A | wERra, OMR STR-UA% P e N6 3
Ay ¥ | oMy en—wwa B 918 TE-gRAGT I [ o T B AFA T
5 TA-GRaaT ¥ g 90 W § | YAG I P A 1 3% §| Mo W P fog DI 3@ Tl
FC T |
TR S, TR, qaefi td sger @ ue R gd offeh Al § | 3k ofieht & gfaw fxh
7 ok SHe RS arqare A @1g e &, o sl ¥ Ffea e & AR B
5 ye-gRaar ¥ X6 @ forg 2 g% B T §)
wWen FE ¥ dapeey, WE 6 /6, A BT AT FoERie SUBRT W H Y@ Td
SHHT SYAT FRAT A ¢ |
efTr 39 @ed § @A ¥ f5 OMR Sheet @1 it adz @ F G a1 S ¢ |

a7g, OMR Sheet R T &1 @8 adie & W 30 7iH 90! T8l 96 T 3R qedid
T T TR | 39 PET @1 GeRe: Uo7 e @) oren § i gEe foR wd formiaR

g |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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QUESTION BOOKLET OF THE CLERK (1ST SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : . Booklet Series
Roll No. : C
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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The loudness of sound depends upon the

(a) velocity of sound waves in the
medium

(b) amplitude of the sound waves
(c) frequency of the sound waves

(d) frequency and velocity of the sound
waves

e+l @ Haerar R el ©

(@) WEFH H @ I B AT W

(b) €A TR D A W

(c) & A BT IMGRT W

(d) €I T @ emgfy &k I W
is 0

Kelvin. In degree celsius (°C) unit,
is the

The absolute zero temperature

which one of the following
absolute zero temperature ?

(@ 0°C (b) -100°C
() -273.15°C (d) -173.15°C
WH Y AR 0 dfedd wl A
dfeaas (°C) 95 d UxA I A9EN
freforRed & & d—d1 & 7

@ 0°C (b) -100°C
(c) -273.15°C (d) -173.15°C

Brine is an aqueous solution of

(a) NaCl (b) NaOH
() NaHCO, (d) Na,CO,
v Siel (91g) fheer e e =7
(a) NaCl (b) NaOH
() NaHCO, (d) Na,CO,
(C

101

L3)

Blood is a type of

(a) Epithelial tissue
(b} Muscular tissue
(c) Nervous tissue
(d) Connective tissue

Nqd Ueh PR &l

(a) SUBA HIP B

) U oae '
(c) Tf=dT &b 2
(d) AT SHad 8

‘Lub-Dub’ sound is produced due to
action of :

(@) Large intestine

(b) Lungs

(c) Heart

(d) Oesophagus

Te-s9 @ feae o @ @R
I~ BNl 8 7

@ @ 3T (b) BFS

€ & (d) I

Who was the Education Minister in the
first Cabinet of Independent India ?

(a) Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel

(c) Maulana Abul Kalam Azad

(d) Acharya Narendra Dev

WA YRa @ YIH "EHvea # Rem 734
B g ?

(a) TITUCE! XETHH

(b) VRER TeeTHHIg Ucel
(c) WA 3AgeT Bl TS
() 3mEd R <q



Which one of the following associations
was founded in London by Dadabhai
Naoroji in 1866 ?

(a) The Bengal British India Society
(b) The East India Association

(c) The British Indian Association
(d) The Madras Native Association

a9 1866 ¥ TISTITE ARSI §RT &< H,

fr=foRed & @ dHF-7 |99 (Gn) o

RATYAT BT T ?

(@) T T fafewr shear A
(b) T $R 3fear vaRgeH

© = fafew sfeas gaRiger
(d) T W= Afea vERigeE

Who is presently the Secretary General
of United Nations Organisation :

(a) Antonio Guterres
(b) Amina J. Mohammed

(c) Dennis Francis |

(d) None of these

TAAE § WY I WY B Ferad B
g7?

() T TR

(b) 3T S0 HIEHS

() S Wik

@ T q BIE T

Jelep La pass is located in

(a) Punjab Himalaya
(b) Sikkim Himalaya
(c) Kumaon Himalaya
(d) Kashmir Himalaya

101
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10.

10.

11.

11

12.

SII9—TT SRT el Jraferd & ?

(@ Yo fBHEeT
) Fafews fare
(c) FATS, fRHre™
(d) HER feATe™m

Which one among the following is the
coral group of islands of India ?

(a) (b) Nicobar

(c) (d) Lakshadweep
ffofad & @ -1 (b 9Rd @I
yaTel 9—TgE § ?

(a) SAUSHAM (b) FreprER

() %7 (d) EET

Which one among the following is not a
Fundamental Right the
Constitution of India ?

Andaman

Barren

under

(a) Right to equality

(b) Right to freedom

(c) Right to citizenship

(d) Right against exploitation

HRA @ Gy & g fA=foRad & |
PN TH Afers (1) AeR 781 8 ?

JHAT BT AEBR

(2)

(b) T BT AABR

(c) FTFTRGAT P AfRBR

(d) U B fIeg IAfdER

The ‘Basic Structure Doctrine’ was
enunciated by the Supreme Court
during the

(a) Golak Nath case

(b) Maneka Gandhi case

(c) Kesavananda Bharati case

(d) S.R. Bommai case



12.

13.

13.

14.

14.

15.

AR Ava Rigra @RE e

Sif¥e=) Seaan <™ gRT o AT

3 erRME el faar mar ?
(a) TIICTHTY HATHAT
(b) T T AT

(c) PIATE TR AT

(d) THO 3RO SIFE HTHel

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(a) B.R. Ambedkar
(b) K. M. Munshi

(c) Krishnaswamy lyer

(d) M. K. Gandhi

T ¥ BF YRd d QAU @ 9reyor
Ay b1 W el o ?

(@) 0 3RO FSH

(b) @0 THO HIM
(c) PN J&=R
(d) THO HO T

Which one of the following is not an
ASEAN member ?
(a) Cambodia (b) Laos
(¢) Myanmar (d) Taiwan

f=feiRad § 1 BI—T (& ASEAN &I
e TE § 7
(@) HHITSAT

() ¥MER

(b) TN
(d) dredar
In the term GIS, ‘G’ stands for

(a) Google (b) Geographic

(c) Goodness (d) Geological

(C
101
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15.

16.

16.

17.

17.

18.

18.

gsvsdf o e fowe?
(@) TS (b) Frarmihe
(@ TeTd (@) Rreifrd

A set of instructions in a sequential
manner telling the computer what to do

is called :
(a) Instructor (b) Compiler
(c) Program (d) Key-Board

FFGR P, T FAT 8, I8 FaH B forg
R 9 g FE (@FFER) @ WE
(set) BT PHET TICT & :

(a) IWEIR (b) TR

(c) W™ (d) -

Electronic components predominantly
used in first generation computers were

(@)
(b)

Magnetic drum
Transistor

(c) Vacuum tubes

@ IC

wH W P FEX 4§ w9 9
Solagife gcdh TG Bl o

@) FHEHE FA  (b) FoER

© faldegg (@ A

A source program is directly converted
to .exe file by which of the following ?

(a) Compiler (b) Interpreter

(c) Assembler (d) Linker

frer & @ 59 gRT Te & AUH
@Q.ex&ﬁl’s’gﬂﬁﬁaﬁﬁ@mé?

(b) SR
(d) fofdx

(@) HHETZAR
(c) oMW



19,

19.

20.

20.

21.

21.

22,

Which protocol is commonly used on
internet to exchange files ?

(a) Telnet (b) Gopher

(c) FTP (d) Sp

BEd @ IGA—dgel 8g See W
g fed Aot &1 S9arT faar
151 14

(a) <oC

(c) THocloYlo

Which of the following command is used
to add hyperlink in a document ?

(@)
()
TP TS § gEWied oM & forg
=1 # | 59 wHis &1 w3ArT e s
g7
(a)
(c)

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as:

(@)
(©) (d) SSD

AR BT 98 UBR S A § SR e
Y ¥ @Rd qifod siiesl @ dufed
Hxar

(@)
(c)

A web page is primarily written in the
language

(@)
(c)

(b) PR
(d) TdoUlo

Ctrl + F (b) Ctrl + K

Ctrl + B (d) Ctrl+V

Ctrl + F (b) Ctrl+ K

Ctrl + B (d) Ctrl+V

HDD (b) ROM

RAM

HDD (b) ROM

RAM (d) SSD

C++

(b) Python

HTML (d) Java
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22.

23.

23.

24,

24.

25.

25.

26.

foram < 21

() C++ (b) UrgeH

() HTML (d) SITar

Every web page has an address

associated with it. This address is

known as
(a URL (b) IP
(c) TCP (d) Browser

R I9 U B W TP gaT ST Bl 7 |

B U D i BEA & |
(@) URL (b) IP
() TCP (d) TSR

A popular protocol for sending e-mail is
(a)
(c) SMTP (d) HTML

-9 WM @ Y T i dienter
g

TCP (b) UDP

(@) TCP (b) UDP
(c) SMTP (d) HTML

MAC addressis ........oeevunenee. bits long.
() 24 (b) 48

() 124 (d) 64

AP (MAC) TR oovvrrs fae @1 g 2|
() 24 (b) 48

() 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(b) Channel
(d) Buffer



26.

27.

27.

28.

28.

29.

29.

I YUSRY &3 W SURUl & 49
Iéaa?aﬁ'\'%amzﬁwﬁm
BT & I8 el &

(@) 9 (b) =T

(c) Hf=A (d) THR

FTP stands for

(a) Folder Text Protocol

(b) File Transfer Push

(c) Fixed Terminology Placement
(d) File Transfer Protocol

FTP &1 a9y &

(@) WIeeX THRS MSIdrid

(b) WIgel gI=AHR YRT

(c) frawe e o<

(d) WISA SAHR HICrbicl

All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(c) Tool bar

(d) My Computer

Wi Recfie @ g¢ wrgel fre F o & -
@ dwwd T (b)) TREIR

© TER (d) W% TEYER

Which of the following is not an
operating system ?

(a) DOS (b) UNIX

(c) LINUX (d) MS-Office
f=faRed & § @9 SifaRfeT Rien =78
g7

(@ SN (b) I

(c) fores (d) THOTHO Siffthd

101
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.7)

30. The process of switching from one open
window to another is called
(a) Task switching (b) System call
() Moving (d) None of these
30. U& 3AUA fawsl | R 3fiud favsl #
Rag &< & 9fshar S SRl @
@) P Rafer (b)) Red @
© @ ¥ o TE
fdsr  (31-35) : F=folRaa & & g
I arel Teq BT TIT BIfoTg—
31. (a) fawereror (b) fareere
(c) faeryor (d) foretwor
32, (a) WTOI (b) ETSOT
(c) IITeIHor (d) FeieH
33. (a) wfecdi® (b) WTEIAID
() wEfa® (d) wfEfeas
34. (a) dREHR (b) dREBR
(c) WEMHR (d) IRR
35. (a) forctioten (b) forersiett
(c) fererisifer CVRELEISIE
fader (36-40) : fF=iferRaa s Wl &
fog ve e Se Ry Y fawedi # W -
36. a9 AT 7 8-
(@) <D (b) w@fif®
(c) rfrT (d) 3w
37. I8 WG Jol 99 U a9 W WY
dred 8-
(@) e (b) are
(c) NI e (d) STIRTE



38. G ¥F B BT PRl 8-

(a) I (b) IR

(c) oY (@
39. AN® IR—UR @1 1 FH—

@) R (b) St

(c) UREH (d) Srdereelt
40. Y H F9T AfRI—

() BFS (b) aRw

€ We @ gora

e (a1-42) : f=foRea gemai/
dArpifaeal @1 sf I Ry T e § @
T

41, ‘TAR P YR UR o T 3ef 2—

GCICIBSE]]
QRIS &X e

gogf HRAT
B3 Pt BT
‘g1 BT Vel BT 37f B—

(@) T® Y (b) @I TG

( WEMaRg () 9N TR

e (a3-46) : Pr=foRas smeror &
ST o @ fRAREER 8, Ry v et A
| gfrg—

daM Te 9 9%g @1 81, 99 98 98a
I3 T B, T4 SH I DI Ui, A@ifeg Al
ST | S T8 WRAT| 7Y =Te © b 98
IR—IR et a1 SRR Aear | o= 1AM,
99 AT BeR o H WX X ofar 8, 99 Wi
BN R A 3R WIflT & $TOT SRIER @A
g, e Ags w1 aR &R Wi & =

(2)
(b)
()
(d)

42.
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Y g & g1 o 78 & Sad @ 9,
RraeT 8 ST | T BH B, S AT AR
& & AT SHeT WRT SREERU 9l
IMITHY IEAT & | S forg o § ag #f 78
2| A, IMET—FHeUAT ¥ S~ @ ©; A
R it & 98 spo—eu w@mifds &
S 8, g W ST A 99 9 & fog <
ST 81 7 &l @ S@eR a8 uae e ®
IR 9 S TWIR DY W BT 2| T W
Ay Arfeasd ST BT 3T AT TAT 8 |

43. e &1 9 e 8-
(a) oTAAN (b) -
(c) <M 3R FAN(d) o 3R MY

A BT PO Aed IMEAI  Fdi
REAT R ?

(@) g% wIfead i S onTaT 8

(o) R & ST | g9 8F BT S|
T 3aEx A8l e

A @ gt Bg 9% SHeME Al
P Ity BY oI &

ST 8 8o ¥ 98 Y9 8 Wi
?

Arfeqds SfaT &T 3T {6 Fer T § ?
(a) gH-—oH (b) ST
(€ WRUHR (d) T
A fhe UHR BT W AMT AT § ?

(@ @M @ gl 9 8F BT g A
TR

44,

(c)
(d)

45.

46.

(b) &9 YT T BF BT §F AT AT ©

(c) WY YT B &1 ¥ A AT &

(d)

FEI—PHeTT W SO §g@ A
T2



fder (47-48) : F=fofEa o=l @
TSt wreg @71 9ga 9@ feu v fwent #
A DT —

47. 3
(@) hATT (b) HTE¥T
() o (d) 3T
48. TY
@) foR (b) IEHR
(c) T (d) wTHEE
fAdw (a9-50) : f=foRea o=l &

faam vre &1 999 S99 U Y fAwedi | |
I

49, g&H
(a) 3G (b) F=A
(0 fAfem (d) el
50. fe
(@) HXUT (b) Ul
(© 3fte (@) e

Direction (51-54) : Read the following
information carefully and answer the

questions given below it :

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.

51. How many persons are there to the right
of D?
(@) One (b) Two
(c) Three (d) Four

101
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52. Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC
(c) FE (d) AC

53. Who is sitting immediate left of C ?
(@ A (b) E
(c) B (d F

54. Who is at the right end ?
(a) A (b) B
(€ E d F

fader (51-54) : FAfaRaa el &t
aIEe ue¢ iR A Ry MU Rt @
S T -

BE QI A, B, C, D, E 3R F SR &I
3R HE > TP Ufad A T 1 C, AR E
& g YT B DA A S 2B, ED D
SM AT R F IW A 3§ 781 2

51. D & T 3R foa &fdd & ?
(&) TH (b) &
(c) T (d) IR
52. f=foRad § & -9 "R D & (&
WH doT 8 ?
(a) FB (b) FC
(c) FE (d) AC
53. C @ b 91¢ TG P 0T & ?
(@) A (b) E
¢ B @ F
54. TN fFIR W P9 901 8 ?
(@) A (b) B
© E d F



Direction (55-57) : Read the following
information and answer the questions given
below :

B is the mother of A. C, B’s sister, has a
son D and a daughter E. F is the maternal
uncle of D.

55. How is A related to D ?
(&) Cousin (b) Nephew
(c) Maternal Uncle (d) Brother
56. How is E related of F ?
(a) Sister (b) Daughter
(c) Niece (d) Wife
57. How many nephews does F have ?
(a) Nil (b) One
(c) Two (d) Three
e (55-57) : F=foRaa SHaRT 98
3R R Ry 7T FeAl BT SR S
B,A @ #f ¥| C, B @ &, B & eI
DR R UG ITETIF,D &AM E|

55. A, D ¥ fbg yoR w&fd & ?

(a) HIRT g (b) WIS

(c) #mT (d) |E
56. E,F ¥ foq yeR Gafd g ?

(2) =4 (b) X

(c) wiSit (d) ueh
57. F & foas wiol & ?

(@ TEWAH (b)) TP

(¢ @ @ =

Direction (58-60) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

58. NECESSARY
(a) One (b) Two
(c) Three (d) Four
59. PREAMBLE

(a) One (b) Two

(¢) Three (d) Four
60. ORIENTAL

(a) One (b) Two

(c) Three (d) Four

fader (58-60) : A=folag # ¥ U@
weq # Ry ¢ veg F quif @ W fHaw oS
g e fa s & avf § Rre & iUl

qoiTe H 39 919 B © ?
58. NECESSARY
(a) U® (b) &I
() I (d) TR
59. PREAMBLE
(8) TP (b) B
(€ o (d) TR
60. ORIENTAL
(@) TP (b) =
(c) o (d) IR

61. What will be obtained by multiplying the

difference obtained by subtracting 3%
from 9% by 450 ?

(@) 2250
(c) 2540

(b) 2045

(d) 2450

61. géf{ﬁ 3%%’1%@%'31?1?3%450
¥ TN B W RT YT BN 7

(b) 2045
(d) 2450

(a) 2250
(c) 2540

(C-10)
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62.

62.

63.

63.

64.

64.

B C

If . then, what is the value of

A —
5=
ratio (C+A) : (A+B)’ : (B+C)*?
(@) 64:25:49
(c) ©64:55:49

A B C
W Frp W O

(C+A)P:(A+B):(B+C) @1 719 &1 &7

(b) 54 :35:39
(d) 64:25:51

(a) 64:25:49
() 64:55:49

(b) 54:35:39
(d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(a) 120 (b) 108
() 100 (d) 96
A EEd 1:3 B U ¥ g IR

SIPhT IRTHS 240 B, A SHGT IR
feam g ?
(@) 120
(c) 100

(b) 108

(d) 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then

B leaves the work. In how many days can
A alone do the remaining work ?

() 11 (b) 13
() 15 (d) 17

A BT TH A B 20 &7 # T
TN Wbl & SEih B el 39 B DI
25 fo & wo@ I Waar B A

fierar 5 o o axa € % B &M
Blepy Tl ol &l ¥ HE P OA

epett fopam fos & &R 9T ?
(@) 11 (b) 13
¢ 15 d 17

65.

65.

66.

66.

67.

(C-11)
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A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(b) 12 hours
(c) 8 hours (d) 24 hours
A TH B @ 4 °C ¥, B 71 C fAeraw
3 g § U A 3R c fAaex S92

e § R IR GHI E| B Dl 39
Pl B fhas T H GRT T ?

(a) 10€9C (b) 12 ¥
(c) 8HU (d) 24 =G

A man goes from A to B at the speed of
60 km/h and returns from B to A at the -
speed of 40 km/h. What is his average

speed for the whole journey ?

(@) 50km/hr (b) 48 km/hr

(c) 45km/hr (d) 55 km/hr

Te Afdd A ¥ B 9% 60 fdHlo ¥l
HUST B T W AT § TAT B WA Th
40 frdlo ufy wver & wfy | <rear g1
Ul gEn @ fog Swe sid Wi
far 8 ?

(@) 10 hours

(@) 50 fdHio /HeT
(b) 48 fdHlo /HeT
(c) 45 fdHlo /HeT
d) 55 f&HHo /HeT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach from Bto A ?

(b) 2:3
(d) 3:2

(@) 5:3
(g 2:1



67.

68.

68.

69.

69.

s A g A 9 fog B 0@ 4
oo /Tver &Y T |/ ST 8 9T a9
fig B 4 g A @& 6 fd#lo/ =ver
@ Y | dedr 81 A ¥ B OF Uge
qAT B W A TP AW H T AT Bl

YT &T BT 7
@ 5:3 (b) 2:3
) 2:1 (d 3:2

Simple interest on a sum of money is
equal to i— of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per

annum ?
(@ 2.5% (b) 5%

1

© 75% (d) 10%

WWWWWWW%

g dUT guf P GeT, gied e} P IRIER
g e o 9 X fhaqr 8 ?

(a) 2.5% (b) 5%
1
© 7% (d 10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 months,

when the interest is payable quarterly.

70. What is the value of (0.74+0.48 +0.90)

(@) 1.87 (b) 214

(c) 356 @) 412

70. (0.74+0.48+0.90) @1 H T 7T B ?

(a) 1.87 (b) 2.14

(c) 356 (d) 412
Directions (71-74) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and

opinion of the author only.
PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is to
oversimplify the topic.

71. Why is the debate about whether men
(a) Rs. 7651 (b) Rs. 7605 are stronger than women unclear ?
(c) Rs. 8652 (d) Rs. 8052 (a) Because both genders are equally
strong in all aspects.
125000 T0 BT 8% dTYP X H 9 ATE &I
o~ b) Because th ord “strong” ma
IHglg &N TG DI, Seld ol (®) e ¢
mean many different things.
frmer 27 2|
(c) Because men are always stronger
(@) 7651 %0 (b) 7605 %0 than women.
(© 8652 %0 (d) 8052 %0 (d) Because. strength is only measured
by physical power.
(C-12)
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72. According to the passage, men generally
excel at which of the following ?

(d)

Living longer.
Tasks requiring precision.

Lifting heavy objects and physical
labour.

Resistance to disease.

73. What strength do women tend to have
over men, according to the passage ?

(2)

(b)

(c)
(d)

They are better at lifting heavy
objects.

They live longer and have stronger
resistance to disease,

They can strike forcefully.

They are stronger in physical

labour.

74. What is the main message of the

passage ?

(a) Men and women are equally strong 80.
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are 81.
not strong.

() Men and women are strong in
different ways, and the argument
about one being stronger than the an
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

83.
Directions (75-79) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.
84.

75. Vitriolic

(a) Imaginative (b) Sprightly

(c) Vivacious (d) Abusive

(C-13)

101

76.

77.

78.

79.

Candid

(a) Kind (b)
(¢} Generous (d)
Profane

(a) Assert (b)
(c) Lengthen (d)
Interpolate

() Clarify (b)
(c) Reverse (d)
Nadii‘

(a) Asylum (b)
(¢) Lowest point (d)
Directions (80-84)

Courteous

Frank

Benefit

Desecrate

Investigate

Insert

Heaven
Zenith

Choose the

alternative that is most nearly opposite in
meaning to the given words.

Fiasco

(a) Success

() Fun
Confident

(a) Imprudent
(c) Diffident
Mammoth

(@) Significant
(¢} Unruly
Engrossed

(a) Occupied

() Engaged
Altruistic

(a) Selfish
() Brutal

(b)
(d)

(b)
(d)

(b)
(d)

(b)

(d)

(b)

(d)

Joy

Disaster

Impatient

Reluctant

Small

Noisy

Inattentive

Absent

Inhuman

Wicked



Choose

Directions (85-87) :

of the given idioms/proverbs :
85. To leave no stone unturned
(a) to keep clean and tidy
(b) to try utmost
(c) to work enthusiastically
(d) to change the things
86. Through thick and thin
(@) big and small
(b) large object
(c) under all conditions
(d) thin and fat
87. Ill at ease
(a) Restless (b) Worthless

(c) Listless (d) Sleepless

101

the
alternative which best expresses the meaning

(C-14)

89.

90.

Directions (88-90) : Out of the given

alternatives, choose the one which can best
be substituted for the given words or
sentence.

88.

One who cannot be corrected.
(a) Incurable

(b) Incorrigible

(c) Hardened

(d) Invulnerable

One filled with excessive and mistaken
enthusiasm in a cause.

(a) Pedant (b) Patriot

(c) Fanatic (d) Martyr
An office with no work, but high pay.
(a) Honorary (b) Sinecure

(c) Ex-officio (d) Reticent



Space For Rough Work / &% &M & foly W78
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Ve G AP I8 W YRABI Wie BT 7 $E WY a9 a9 1 Grel |

gfiepT e LESERREERl

FTAD C

fuiRa w9 : 2 0 B 3 : 90
et & forg fer

10.

e I B D qo a1 oreff 7w giied wx o & a8 ye-gRaer g 16 gwl @1 § U
e A JER ¥ T W v g€ T & W T T e BT A gL T §1 AR W R,
W T ATl ael Te-YRkieT W gge off WY |

HTPBY T FHHIG FA-IRIP § FW RY T @d H WA 8| 9 AR FE-gRadT W
7B W 7 ford ok el YR o1 3FgwEs e 7 T |

aRfal Bt Sueter S T OMR Sheet # aifod F@at FRiRa 9 ® w6 6 &84 9
7d wll § AR el yeR @ oawad e T e 8| omewd ficw OMR Sheet W
STeE |

e SIR-FIfRT o7 @ forv FeiRa @ M & & a1 A sz U9 gN W | U6 ¥ 3@
el @) Rt 7 | 1@ A dRS Mol B SR @ ©9 A fafed o | 99 IR I T A
SITET |

59 SE-gRaaT § W e ot o= B oot 7 A | e, OMR StR-TA% Bl BE Qe Bl
i ¢ | U WE-TAIT & 915 JeE-gRAST U W of W Bl A § |

5 YE-gRad ¥ Bt 90 WA ¥ | UG TR B AN 1 3 | o SR B o BIg 3 el
HTC T |

AR S, TR, Ta e U4 $rger & Yo el ud ofiien <M A § | Al iUl 7 gfea foe
7o 3R T R aare A IS e 8, o 3ol § AT 9w € A e

50 T-gRaaT § W6 1 3 forg @ g OIS Y §

T FE § dodgoiey, TE T /0, NG BIF AT JoRiE SuB W H Y@l gd
SHT ST FRAT AT 2 |

oreffTor 3 A2 ¥ ora @ % OMR Sheet &1 Hedid Soiagieg A &RT bl O & |
Jqvd, OMR Sheet W M I F8 a0 W 3wy 74 391 T8 g UM IR i
T R R | 36 FSW B SERE: ued 7 e B e § onef s o W ReaR
B |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series

Roll No. . D

Time Allowed : 2 Hours

Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series,

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are

both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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What will be obtained by multiplying the

difference obtained by subtracting 3%
from 9% by 450 ?

(@) 2250 (b) 2045
(c) 2540 (d) 2450

géﬁﬁsga’eﬁwmwaﬁ%o
H oM FRA TR FIT 9IS BT 2

(a) 2250 (b) 2045

(c) 2540 (d) 2450

If i =E=-(3 then, what is the value of
3 2 5

ratio (C+Af :(A+B)’:(B+C)*?

(a) 64:25:49

(b) 54:35:39

() 64:55:49

(d 64:25:51

ar  AB.E @ sum
(C+A)P:(A+BY :(B+C)* &1 AF AT 27
(a) 64:25:49

(b) 54:35:39

() 64:55:49

(d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(a) 120 (b) 108

(c) 100 (d) 96

A EHER 1:3 B U H gl AR
BT AN 240 BI, O @I 3R
feam & ?

(@ 120 (b) 108

() 100 (d) 96

(D-3)
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A alone can finish a piece of work in 20

days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work ?

@ 11 (b) 13

(€ 15 (d) 17

A IDT TP Hrd B 20 R F HANC
PR FPHal & & B Pl 59 B B
25 o9 & W< W HPHar g <=l
forr 5 feq & &=a € R B &M
BISHR oAl ol =] ¥Y¥ dd B A
e fram feF & &= e ?

(@) 11 (b) 13

© 15 (d) 17

A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(@) 10 hours (b) 12 hours
(c) 8 hours (d) 24 hours
A U& & $f 4 B¢ ¥, B a7 C fierdx
3 g0 # T A 3R C fieex S 2
g ¥ QR R FHd §| B Bl 39

w1 B fhas g F @B ?
(a) 10©TC (b) 12 g9
() 8¥w (d) 24 "%

A man goes from A to B at the speed of
60 km/h and retumns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

(@ 50km/hr
(b) 48 km/hr
(¢ 45km/hr
(d) 55km/hr



6.

Uh R A 9 B @ 60 fdHlo ufd
HUeT B MY W ST 2 9T B ¥ A D
40 f&fo Uiy wver & 7y ¥ dear 2|
ol e @ fou swer s T
foan 8 ?

(@) 50 f&Ho /=T
(b) 48 fdHto /HeT
(c) 45 fdHo /Her
(d) 55 f¥lo /HeT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time

taken to reach from Bto A ?
(@ 5:3 (b) 2:3

(¢ 2:1 d 3:2

e Jgfda g A 9 g B @ 4
o /uver &Y TR | STAr 8 aRIT 99
fig B 9 05 A @@ 6 fed#lo/ =ver
P Y | dledr 1 A ¥ B 9 UgEA
TA B ¥ A TP AN H T AT Bl
AT T B P

(@ 5:3 b) 2:3

() 2:1 (d 3:2
Simple interest on a sum of money is

equal to % of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per
annum ?

(&) 2.5% (b) 5%

1

@ 75% (d) 10%

(D
101

10.

10.

11.

1L

WWWWWWW%
2 qor aut @ W&, ufaed ) @ a¥Ex
2| & B i = fhaer § ?

(@) 2.5% (b) 5%

© 7% % (d)

10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 months,
when the interest is payable quarterly.

(a) Rs.7651 (b) Rs. 7605
(c) Rs. 8652 (d) Rs. 8052
125000 B0 BT 8% TP X | 9 HIE BT

THYfG S TG BDIOY, SEfD AT
el <7 &

(@) 7651 %0 (b) 7605 %0

() 8652 %0 (d) 8052 %0

What is the value of (O.ﬁ +0.48 + 0.9_6)
(@ 1.87 (b) 2.14
(c) 356 d 412

(074 +0.48+0.90) @1 A1 FAT ® ?

(@ 1.87 (b) 214

(c) 356 d) 412

A set of instructions in a sequential
manner telling the computer what to do
is called :

(b) Compiler
(d) Key-Board

(a) Instructor
(c) Program
HFIER B, TT HAT &, I8 g1 & g
3 o g Al (FER) & 9
(set) BT BET 9T &
(a) F¥EAN

(c) W™

(b) PRI
(d) P—arE



12,

12.

13.

13.

14.

14.

15.

15.

Electronic components predominantly
used in first generation computers were

(a) Magnetic drum
(b) |, Transistor

(¢) Vacuum tubes
(d) IC

H UG B HRger W &I WY 9
goagI® gcd Tgad s o

(@ FIEIEFT (b)) FOWR

(c) fafa eg@ (@) g A

A source program is directly converted
to .exe file by which of the following ?

(a) (b) Interpreter

(c) (d) Linker

1 4 9 f59a gRT ve wd A
W exe WTgS A gRafla gar 8 ?

(@) HHEFR (b) SN

(c) SR (d) fefdx

Which protocol is commonly used on
internet to exchange files ?

(@) Telnet (b) Gopher

(c) FTP (d) SP

HEA B ATAT—FIAl Bg FeXAE W
wrrad: fee Aiciaia @1 S faar
ST &7

(@) <eMET

(c) UTHocloYlo
Which of the following command is used
to add hyperlink in a document ?

(8) Ctrl+F (b) Ctrl + K

(c) Ctrl+B (d) Ctrl+V

v Tw ¥ EEWRiE TN 3 R
o % 9§ fe @wis @1 AT e e
g7

Compiler

Assembler

(b) B
(d) THoUlo

101
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16.

16.

17

17.

18.

18.

19.

Ctrl + F (b) Ctrl+K

()
(©)

The type of memory which is fast and
temporarily stores the data which are

Ctrl + B (d) Ctrl+V

immediately required for use is called
as:

(a)
() RAM (d) SSD

HAR BT 98 FHR Ol g & AR 3R
Y 9 @Ra qifsa sffwel @ Gufd
Pl 8

(a)
(c)

A web page is primarily written in the
language

HDD () ROM

HDD (b) ROM

RAM (d) SSD

(a) C++ (b) Python
(c) HTML (d) Java

forar <irar €1

(@) C++ (b) UL

() HTML (d) T

Every web page has an .address

associated with it. This address is

known as

(a) URL (b) IP

(c) TCP (d) Browser

B 9 U1 B WY UF Il ST Bl 2 |
(a) URL (b) IP

(c) TCP (d) SIS

A popular protocol for sending e-mail is
(a) (b) UDP
(©)

TCP

SMTP (d) HTML



1%

20.

20.

21.

21.

22.

22.

e Ao B o TE S wietTe
g

(a) TCP (b) UDP
(c) SMTP (d) HTML

MAC address i .......cccoevnvvnnne bits long.

@ 24 (b) 48

(€ 124 (d) 64

% (MAC) TSH .......... [9CT &1 BT B |
(a) 24 (b) 48

() 124 d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

Bus (b) Channel

(a)
(c) (d) Buffer

IR YUSRYT &F Gl SUPRV P A
2T X AR T JaE B IR P WRUATS
PRl & I8 PHEeldl &

(b) BT

(d) dHY

Modem

(@) 9%
(c) HfeH

FTP stands for

(a) Folder Text Protocol

(b) File Transfer Push

(c) Fixed Terminology Placement
(d) File Transfer Protocol

FTP &1 A9 &

(a) iceY CRC AlCIDId

(b) WIgeT LTABY JRT

) fhaas efmar o<
(d) BIET STIPBR WSTdie
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23. All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(¢) Tool bar

(d) My Computer
23. F f¥elie @t g3 wigel 7 # el @ -

(@ INEHA @9 (b) TRPER

) TEER (@) g P
24. Which of the following is not an

operating system ?

(@ DOS (b) UNIX

(c) LINUX (d) MS-Office
24. fa=feifed § & @9 RET Rier 781

g ?

(@) S (b) e

(c) foras (d) THOY™O 3iffth<d
25. The process of switching from one open

window to another is called

(a) Task switching (b) System call

(c) Moving (d) None of these
25. Ud 399 famer ¥ q@R ofiud fawer #

Raa = @ ufhar S oI 8

(@) T Rafrm (b)) Ried afa

() (d) $T HE TEI

Direction (26-29) : Read the following
information carefully and answer the
questions given below it :

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.



26.

27,

28.

29.

How many persons are there to the right
of D?

(a) One (b) Two

(c) Three (d) Four

Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC

(c) FE (d) AC

Who is sitting immediate left of C ?

@ A (b) E

(¢ B (d F

Who is at the right end ?

(a A (b) B

© E d F

frder  (26-29) : FrefoRaa gEeRl @1

weuAEe ue o A Ry M wwAl @
Sis LGS

DE T A, B, C, D, E 3R F StTR @l

3R HE o TP ufdd # W FI C, AR E

D

dre do1 2| D 3 § WE 8 B,E & D

T 96T 8| F TN 9 3@ § & 2

26

27.

28.

. D@ T AR o afaa g ?
(@) TP (b) =T
() o (d) IR

frefafed § @ -1 TR D @ T
TG do1 & ?

(@) FB (b) FC
() FE (d) AC

C ® O 9I¢ TRE B o1 § ?

(@ A (b) E

¢ B (d) F
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29.

TN fHIR W P 981 8 ?
(b) B
d) F

@ A
() E
Direction (30-32) : Read the following

information and answer the questions given
below :

B is the mother of A. C, B’s sister, has a

son D and a daughter E. F is the maternal

uncle of D.
30. How is A related to D ?
(a) Cousin (b) Nephew
(c) Maternal Uncle (d) Brother
31. Howis E related of F ?
(a) Sister (b) Daughter
(c) Niece (d) Wife
32. How many nephews does F have ?
(a) Nil (b) One
(c) Two (d) Three
frdw (30-32) : Fr=fafed e 98
3R " Ry U wRAT BT SR -

B,A @ #f 8| C, B & §&, & T& el

DRARTHFITERIF,D FTAMTI

30.

31.

32.

A, D 9§ 59 yeR He&fa 8 ?

(@) HIRINT HTE (b) TS
(c) AT (d) g

E,F ¥ fbg YR Haftd 8 ?
(@) & (b) &

(c) TSI (d) T
F o foas 9ol 8 7

(@) "W T (b) TP

(¢ I @ &=



Direction (33-35) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33. NECESSARY

(a) One (b) Two

(c) Three (d) Four
34. PREAMBLE

(a) One (b) Two

(¢) Three (d) Four

35. ORIENTAL

(a) One (b) Two

() Three (d) Four

frder (33-35) : FA=faRaa # 9 TS
ved & Ry 7y wsw # quif & ¢ fam s
g s g sav & aof & R & s

gofgren # g7 9 8 € ?
33. NECESSARY
(8) T® (b) <1
(¢ (d) IR
34. PREAMBLE
(&) T® (b)
(¢ = (@) @R
35. ORIENTAL
(@) TH (b) &
(c) A+ (d) IR

36. The loudness of sound depends upon the

(a) velocity of sound waves in the
medium

(b) amplitude of the sound waves
(c) frequency of the sound waves

(d) frequency and velocity of the sound
waves

(D-8)
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36.

37.

37.

38.

38.

39.

39.

g B g R SR @

(@) HEGH H eafy I B AT W)

(b) € aF B A™H R

(c) € T @ Sghy W)

(@) ey o<t @Y emghy ok I W

is 0
Kelvin. In degree celsius (°C) unit,

which one of the following is the
absolute zero temperature ?

The absolute zero temperature

(@ 0°C (b) -100°C

() -273.15°C  (d) -173.15°C
WH T aHE 0 dfead w1
Jferad (°C) A& § WA Y AIHEN
for=forfad & & dH—<1 § ?

(@ 0°C (b) -100°C
() -273.15°C  (d) -173.15°C

Brine is an aqueous solution of

(a) NaCl (b) NaOH
(€ NaHCO, (d) Na,CO,

AU W (§737) fodar Sieig faerae 87
(a) NaCl (b) NaOH

(©) NaHCO, (d) Na,CO,

Blood is a type of
(a) Epithelial tissue

" (b) Muscular tissue

(c) Nervous tissue

(d) Connective tissue
NI Uh YPR PT
(a) SUYP HAP ©

b) UM HaF B
(c) dfdT Had &
(d) WA SHab B



40.

40.

41.

41.

42.

Lub-Dub’ sound is produced due to
action of :

(a) Large intestine

(b) Lungs
(c) Heart
(d) Oesophagus

e—8g @« fFadl I & BRI
SO~ BT § ?

(a) S 3
(b) S
(c B
(d) AT

Who was the Education Minister in the
first Cabinet of Independent India ?

(a)
(b)

Sarvepalli Radhakrishnan
Sardar Vallabhbhai Patel
(c) Maulana Abul Kalam Azad
(d)
A IR & JUH GfEHved § R w30
B Y ?

Acharya Narendra Dev

(@) FATC TFT

(b) WRER TCTWHTS Yo

(c) Hiem 3T Dol AT
(d) ImEd N F

Which one of the following associations
was founded in London by Dadabhai
Naoroji in 1866 ?

(a)
(b)
(c)
(d)

101

The Bengal British India Society
The East India Association
The British Indian Association

The Madras Native Association

(b-9)

42,

43.

43.

44,

44,

q¥ 1866 H TIGMIS ARGl §IRT ofad ¥,
frefoRea & 9 B9-9 Y (=R
AT P TS ?

(a) < S fafew e AR
(b) & ¥ sfosar vafieeE

€ < fafeer sheaw waRgem
@) T TE9 Afea waeeE

Who is presently the Secretary General
of U_nited Nations Organisation :

()
(b)

Antonio Guterres
Amina J. Mohammed

(c) Dennis Francis

(d) None of these
o ¥ e I WY @ w39
g7

(@ eI v

(b) T Fo AEEE

(c) S Wil

(d) T A PIE TG

Jelep La pass is located in

(@)
(b)

Punjab Himalaya
Sikkim Himalaya

(c) Kumaon Himalaya

(d) Kashmir Himalaya
TAg—aT TR Pl AR & ?
(@ UoTe fEHATer™

(b) fafdes faarerg

() A femre

(d) PER BHe™



435.

45.

46.

46.

47.

47.

Which one among the following is the
coral group of islands of India ?

(a) Andaman (b) Nicobar
(c) Barren
frafaed & @ S\ B R @
JaTd GII—E & 7

(d) Lakshadweep

(@) STUSHM (b) FPER

(€) = (d) FEE

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a) Right to equality

(b) Right to freedom

(c) Right to citizenship

(d) Right against exploitation

HRA & wfdue @ st FeforRad § )
HE—AT U Hiferd () IR 78 & ?
(@) AT BT ARBR

(b) T @7 DR

() ATTRET &1 BN

(d) N B favg ¥ER

The ‘Basic Structure Doctrine’ was
enunciated by the Supreme Court
during the

(a) Golak Nath case
(b) Maneka Gandhi case
(¢) Kesavananda Bharati case

(d) S.R. Bommai case

AR e Rig ((Re wRERR
SifdgA) Swad e g§RT e drel
& IR fAwfad fear 2

48.

48.

49,

49,

50.

50.

(D-10)
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(@) oI AT

(b) FHT TR AN

() DIAFT AR AHAT
(d) TWO 37RO IFHY AT

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(a) B. R. Ambedkar

(b) K.M. Munshi

(c) Krishnaswamy lyer
(d) M. K. Gandhi

T ¥ PF YRG B HAEE P YTHIOr
i &1 @ qE o1 ?

(a) 0 3RO IFISHY
(b) @0 THO HEM

() PERATH SRR
(d) THO PO TN

Which one of the following is not an
ASEAN member ?
(a) Cambodia (b) Laos
() Myanmar (d) Taiwan
fa=forRaa & & ®I9—T U ASEAN &1
e TE B 7
(@) HrIfSA

(c) WMR

(b) TR
(d) drgard

In the term GIS, ‘G’ stands for
(b) Geographic
(c) Goodness (d) Geological
GIs ¥ ¥ ‘@ fow o & forg & 7
(@) OIS (b) foramuTfhes
(€ T4 (d) forarEtrde

(a) Google



Directions (51-54) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is to
oversimplify the topic.

51. Why is the debate about whether men
are stronger than women unclear ?

(a) Because both genders are equally
strong in all aspects.

(b) Because the word “strong” may
mean many different things.

(c) Because men are always stronger
than women.

(d) Because strength is only measured
by physical power.

52. According to the passage, men generally
- excel at which of the following ?

(a) Living longer.
(b) Tasks requiring precision.

(c) Lifting heavy objects and physical
labour.

(d) Resistance to disease.

53. What strength do women tend to have
over men, according to the passage ?

(@) They are better at lifting heavy
objects.

(b) They live longer and have stronger
resistance to disease.

(c) They can strike forcefully.

(d) They are stronger in physical
labour.

54. What is the main message of the
passage ?

() Men and women are equally strong
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

(c) Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be

considered when comparing

genders.

Directions (55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given,

55. Vitriolic
(a) Imaginative (b) Sprightly

(c) Vivacious (d) Abusive
56. Candid

(@) Kind (b) Courteous

(c) Generous (d) Frank
57. Profane

(a) Assert (b) Benefit

(c) Lengthen (d) Desecrate

(D-11)
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58. Interpolate

(a) Clarify (b) Investigate

(c) Reverse (d) Insert
59. Nadir

(a) Asylum (b) Heaven

(c) Lowestpoint (d) Zenith

Directions (60-64) : Choose the
alternative that is most nearly opposite in
meaning to the given words. °

60. Fiasco
(a) Success (b) Joy
() Fun (d) Disaster

61. Confident
(a) Imprudent (b) Impatient
(c) Diffident (d) Reluctant
62. Mammoth
(a) Significant (b) Small
(c) Unruly (d) Noisy
63. Engrossed
(& Occupied (b) Inattentive
(c) Engaged (d) Absent

64. Altruistic

(a) Selfish (b) Inhuman
(c) Brutal (d) Wicked
Directions (65-67) : Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

65. To leave no stone unturned
(@) to keep clean and tidy
(b) to try utmost
(c) to work enthusiastically

(d) to change the things

66.

67.

68.

69.

70.

Tds

72.

73.

74.
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Through thick and thin
(a) big and small

(b) large object

(c) under all conditions

(d) thin and fat

Il at ease
(a) Restless (b) Worthless
(c) Listless (d) Sleepless

Directions (68-70) : Out of the given

alternatives, choose the one which can best
be substituted for the given words or
sentence.

One who cannot be corrected.
(a) Incurable (b) Incorrigible
(c) Hardened (d) Invulnerable

One filled with excessive and mistaken
enthusiasm in a cause.

(a) Pedant (b) Patriot

(c) Fanatic (d) Martyr

An office with no work, but high pay.
(a) Honorary (b) Sinecure
(c) Ex-officio (d) Reticent

e (71-75) : ffofea 4 @ g€

AT art 68 BT TIT BIFTT—

(a) fagersror (b) faweres
(c) fageryor (@) faermor
() SHTAYOT (b) AT
(c) YTyl (d) SeTer
(a) wTfeSd (b) WTEIATS
() <TEfgD (d) wfEfeas
(@) dfE=HR (b) FEFPR
() ¥EHR (d) SREHR



75. (a) faerioren (b) foretisient

(c) Tarerisifer (d) foreaterfer

fdw (76-80) : fmfaRaa o wwgl &
foT T weg S 1Y Y fAeped # W P
76. ToI® FAE TR A 81—

(2) NfdD (b) @fifs

(c) 3rgfoHT (d) omfH

77. 9% WD dll OF 9 g9 H TR
dred &

(@) e (b) AT

(c) W™ Fa (d) SIS
78. Wl AP B FT DRl o—

(a) RMFeA (b) "RX

(c) STTET (@
79. e AR—UR @1 T FH—

@) R (b) g

(c) e (d) SrTerae
80. oMY # FgT Afda—

(a) TS (b) aIRS

(€ WS (d) IO

fide (s1-82) : fy=fiRed HeraRi/
Arpifdal @1 ot Sa Ry Ty et # @
T
81. TEHAR P gR TR AT & 3ef 5—

(a) TPl B

(b) ORIRT HR ST

() gsaf &=

(d) BT B BT

82. ‘BI T Har 1 3ref B—

(@) T a5
(b) B IR
() e a%g
@ N A

fader (83-86) : =faRad raeRor &1
St e @ fRARMER @), Ry v et §
¥ gg—

M @re 19 9y BT 8, 99 98 984
93 AT 2, 94 99 I DI WK, |iveg ar
ST | Sl T8 9RAT| 7S Areal © 5 a8
IR—IR Aol a1 a_Ie% Ao | 99 @ A,
TE AT AR o A R AR O B, a9 Wi

BN W A R uiflg & g8T SRR §41 <&l

g, fov 9% wa1 argR 3R Wi & 3=
¥ g & 2| R 98 8 s @ 0,
7T € a9 ¥ T B @1, S BHT 31EawR
B T8 fAodr| SHdT ART IR el
A e & | 9@ fog O & g8 A1 A8
2| Ay, MA—FeUAT | AN W T, 3Nk
g fed & g8 eMe—dogar @mIfas &8
T B, G W S| A1 99 A 3 forg <
Srar €1 9 Rl @7 F@e g ua= sar @
AR 9 S TEHPR B TEH BT B T W
Hay Arfeaes S &7 T qarar 74T § |

83. ey HT WEl Wid B
(a) oNIA
(b) G-
(c) M 3R AN
(d) @M 3R Wi

(D-13)
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84.

85.

86.

IS Bl AN Wed IHaHE

EAT R ?

(a) d8 HIkgd SiEd SiF oTal &

b) T & SO ¥y B @1 S99
HH1 ATER &I fAerar

(c) <M B YRf 3 I8 PG TRGA
P ifeT PR o 8

(d) =T 8 S 9 98 96 8 Srar
2

Trfeads Sias &T 3T {5 wer mar g ?
(a) - (b) A
() UWRNUBR .(d)wﬁﬁ
A fhe IHR BT @ AET 74T | ?

(@ @™ @ gt T 89 @1 g@ AT
T 8

(b) ©F YT 9 BN FT §W A AT &
(c) WY YIS B BT & AMT AT &

(d) SME-DHAAT W IUW @ A
T B

figer (87-88) : f=foriaa vl @

FERft s BT TIE S9e Ay ¢ fawent #

| B —
87. el
() AT (b) UG
() uaT (d) 3Tl
88. Tqd
(a) R (b) JEDR
() a1 (d) <aTHETE

fader (89-90) : f=fafag wsal &

o™ v &1 999 S9% fev MU Qe § 9

Fu—
89. &H
(2) 35T (b) T
(¢ AR (d) I
90. e
(a) HYOT (b) Helg
(¢ 3fe () el

(D-14)
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9 TP P! I8 T GRAPT G I 7 Pel WY T9 TP T @led |

TRk AT IRAPT el

AP - D

fAuifRa ¥ : 2 °e P 3 : 90
et @ fog fcy

10.

e o BN ® qe a5 gt 7 g o of f& 78 we-gRaa@ go 16 gl @1 § Tl
el off yoR W o o1 W gE T & W T U orEn Fea A ge W E| AR g
S A e Al FRA-gRaeT ¥ g8l ol W |

TP AT ITHHID FEA-GRaHT H FR Ry T @ A WA 71§ HfaRew ge-gRad ®
35 4 7 ford iR el yoR &1 SRS e | R

il ® Suerel e T OMR Sheet # aiftsa gEamg FeiRa oM ® wen g6 & 9
o w0 ¥ AR el yaR @1 arraws R T & 8| amavad fica OMR Sheet W
IS T |

T8 SR-Riftd o @ forv FuiRa v@ Mot & @ a1 A ez 97 gR W TP 9§ A’
T 31 Rftd 7 X 1@ ¥ aRe T & SR & w9 § Rifed a1 W 39 I BT Terd 7
SIS |

59 ye-gRaaT § ¥ e ot o= @Y 31T 7 | WeiRrd, OMR STR-U @1 B ded I
i & | o) Wer—qa @ a5 JE-gRaeT I T o T B A E |

59 Je-gRaal § @l 90 Yo § | UG W BT A 1 3@ §| Toid ST B oY FIS 3@ el
FTC T |

G T, T, T U4 e} ® we R vd ol I A € | AR ol A gfd fai
g3 3R Sue RS oaTe § B fwar 8, F SRl # gfad g9 & A g

T E-gRaeT § Y6 P B fory 3 IS OIS M E|

wen B § degeres, W TS /TS, AT BT HH AT NG SIS WY H W&
TG SUINT FRAT AT & |

et 39 928 ¥ 99 @ f5 OMR Sheet @1 Fodie Sodagid 7 gR1 & S & |
37gd, OMR Sheet R 7ol &1 & @e ¥ X 39 FAF 99! Tl Ig U AR Fedid
T TR YR | 39 PR 3T GERT: W 7 &% @ o # i sve f v R
B |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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